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MATHS

BOOKS - SURA MATHS (TAMIL ENGLISH)

THEORY OF EQUATIONS

1. If the sides of a cunbic box are increased by 1, 2, 3 units
respectively to form a cuboid, then the volume is
increased by 52 cubic units. Find the volume of the

cuboid.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FrigQoYHjznt

2. Equation with roots 1,2 and 3

° Watch Video Solution

3. Equation with roots 1,1 and -2

o Watch Video Solution

1
4. Equation with roots 2, 3 and 1

o Watch Video Solution



https://dl.doubtnut.com/l/_FrigQoYHjznt
https://dl.doubtnut.com/l/_1zfy8jhltK9c
https://dl.doubtnut.com/l/_GG1MH4N3MubJ
https://dl.doubtnut.com/l/_FVQnetxzRKpP

5. If a, 8 and « are the roots of the cubic equation

z3 + 222 + 3z + 4 = 0, for a cubic equation roots are

2a, 28, 2y

° Watch Video Solution

6. If a, B and v are the roots of the cubic equation
x> + 222 + 3z + 4 = 0, for a cubic equation roots are

1 1 1
a’/@?fy

o Watch Video Solution

7. If a, 8 and ~ are the roots of the cubic equation

z3 + 222 + 3z + 4 = 0, for a cubic equation roots are


https://dl.doubtnut.com/l/_U0jKzHBCLqxH
https://dl.doubtnut.com/l/_ati4XDiVzDRc
https://dl.doubtnut.com/l/_CGsH6rkh3Ab8

—Q, _/87 -

o Watch Video Solution

8. Solve the equation 3z® — 16z + 23z — 6 = 0 if the

product of two roots is 1.

° Watch Video Solution

9. Find the sum of squares of roots of the equation

22t — 823 + 622 —-3=0

o Watch Video Solution



https://dl.doubtnut.com/l/_CGsH6rkh3Ab8
https://dl.doubtnut.com/l/_41EjILvL2Mi7
https://dl.doubtnut.com/l/_v6I2hcO97lNr

10. Solve the equation z* — 9z? + 14z + 24 = 0 if it is

given that two of its roots are in the rotio 3:2.

o Watch Video Solution

1. If a, B and « are the roots of the polynomlal equation

ax® + bz +cx +d =0, find the value of Eﬂi in
Y

terms of the coefficients.

o Watch Video Solution

12. If a, B,y and 0 are the roots of the polynomial

eqauation 2zt + 523 — 72> —8=0, find a quadratic


https://dl.doubtnut.com/l/_MafNsyEYr2n6
https://dl.doubtnut.com/l/_o85Ja6NMVLOT
https://dl.doubtnut.com/l/_a461IrQKJQ5K

equation with integer corddicients whose roots are

a+ B+ v+ dand afyé.

o Watch Video Solution

13. If p and q are the roots of the equation

l2? + nz +n = 0, show that /£+\/2+\/% = 0.
q p

° Watch Video Solution

14. If the equation 2> +pr+q=0 and

z?> +p’z +q =0 have common roots, show that it

’

pg' —p'q q—q
. or . .
q—q p —p

must be equal to

o Watch Video Solution



https://dl.doubtnut.com/l/_a461IrQKJQ5K
https://dl.doubtnut.com/l/_1JTOSflDFgOj
https://dl.doubtnut.com/l/_v1zfclyAtW5u

15. Formulate into a mathematical problem to find a
number such that when its cube root is added to it, the

result is 6.

o Watch Video Solution

16. A 12 metre tell tree was broken into Two it was found
that the height of the part which was left standing was
the cube root of the length of the part that was cut
away. Formulate this into a mathematical problem to find

the height of the part which was cut away.

o Watch Video Solution



https://dl.doubtnut.com/l/_v1zfclyAtW5u
https://dl.doubtnut.com/l/_eURkTpbwAkW6
https://dl.doubtnut.com/l/_vfI9vYcbDpAy

1. If k is real, discuss the neture of the roots of the

polynomial equaion 22% + z + k = 0, in terms of k.

o Watch Video Solution

2. Find a polynomial equation of minimum degree with

rational coefficients, having 2 + \/§I as a root.

o Watch Video Solution

3. Find a polynomial equation of minimum degree with

rational coefficients, having 2i+3 as a root.


https://dl.doubtnut.com/l/_UjMKopCy9Wif
https://dl.doubtnut.com/l/_qHSlWG4I6oJH
https://dl.doubtnut.com/l/_HIxVxGC7YgXC

° Watch Video Solution

4. Find a polynomial equation of minimum degree with

rational coefficients, having /5 — /3 as a root.

o Watch Video Solution

5. Provet that a stralght line and parabola connot

intersect at more than two points.

o Watch Video Solution



https://dl.doubtnut.com/l/_HIxVxGC7YgXC
https://dl.doubtnut.com/l/_NlZb2YKiXdTd
https://dl.doubtnut.com/l/_dcc6SuXxXhJX
https://dl.doubtnut.com/l/_Zu3jMBsGiDlQ

1. Solve the cubic equation : 22> — 2 — 18z + 9 = 0 if

sum of two of its roots vanishes.

o Watch Video Solution

2. Solve the equation 9z — 36z + 44z — 16 = 0 if the

roots form an arithmetic progression.

° Watch Video Solution

3. Solve the equation 3z> — 26z + 52z — 24 = 0 if its

roots form a geometric progression.

o Watch Video Solution



https://dl.doubtnut.com/l/_Zu3jMBsGiDlQ
https://dl.doubtnut.com/l/_zffhV3I3Y7Rg
https://dl.doubtnut.com/l/_Da44NrQc3wwj
https://dl.doubtnut.com/l/_gtVKRjo1I5L4

4. Determine k and solve the equation
223 — 622 4+ 3z + k = 0 if one of its roots is twice the

sum of the other two roots.

o Watch Video Solution

5. Find all zeros of the polynomial
2% — 3z° — bz* + 222° — 39z — 39z + 135 , if it is

known that 1+ 2i and /3 are two of its zeros.

o Watch Video Solution

6. Solve the cubic equation : 223 — 922 + 10z = 3

I ° Watch Video Solution


https://dl.doubtnut.com/l/_gtVKRjo1I5L4
https://dl.doubtnut.com/l/_iOHK9LmLRJyN
https://dl.doubtnut.com/l/_2ycJfImSsIMx

7.Solve the cubic equation : 8z° — 2z — 7Tz +3 =0

° Watch Video Solution

8. Solve the equation : z* — 14z? + 45 = 0

o Watch Video Solution

1.Solve: (z — 5)(xz — 7)(x + 6)(x + 4) = 504

o Watch Video Solution



https://dl.doubtnut.com/l/_2ycJfImSsIMx
https://dl.doubtnut.com/l/_fHBkVlJsUviX
https://dl.doubtnut.com/l/_XAdpBw7hTvx8
https://dl.doubtnut.com/l/_fgSkNtX6GPY1

2.5lve: (z —4)(z — T)(z —2)(z + 1) = 16

o Watch Video Solution

3.Solve: (22 — 1)(z + 3)(z —2)(2z +3) +20 =0

o Watch Video Solution

1. Solve the equation

2

sin“x — bsinz +4 =0

&


https://dl.doubtnut.com/l/_fgSkNtX6GPY1
https://dl.doubtnut.com/l/_CKBlyTN82KrP
https://dl.doubtnut.com/l/_MimL2hnT6N2W
https://dl.doubtnut.com/l/_Ap0ppZQF4fXI

| ¥ Vvatcn vVideo soilution

2. Solve the equation

1223 + 8z = 2922 — 4

o Watch Video Solution

3. Solve the equation

sinz — 5sinz +4 = 0

o Watch Video Solution

4. Examine for the rational roots of

22 — 22 —1=0



https://dl.doubtnut.com/l/_Ap0ppZQF4fXI
https://dl.doubtnut.com/l/_Bjp8eC46Iskg
https://dl.doubtnut.com/l/_Ey7vD2xg1BCh
https://dl.doubtnut.com/l/_91kCgz5fAKiL

I o Watch Video Solution

5. Examine for the rational roots of

22— 32z +1=0

° Watch Video Solution

6. Examine for the rational roots of

20 — 22 —1=0

° Watch Video Solution

7.Solve : 82 — 8z — 63

o @


https://dl.doubtnut.com/l/_91kCgz5fAKiL
https://dl.doubtnut.com/l/_JfEDSaUdzuxV
https://dl.doubtnut.com/l/_PV6T4fu531zU
https://dl.doubtnut.com/l/_2FZuI7bb7xeX

on

b 6
8.Sove:21/£—|—3 /32_4__0’
a T a b

° Watch Video Solution

9.Solve : 6z* — 3522 + 6222 — 352 + 6 = 0

° Watch Video Solution

10. Solve the equations : et + 322 -3z —-1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_2FZuI7bb7xeX
https://dl.doubtnut.com/l/_FxHpkEBfZ9E3
https://dl.doubtnut.com/l/_wOEeIKk71T1j
https://dl.doubtnut.com/l/_86Q8Rmj06wB6

11.Solve : 6z* — 352% + 6222 — 352 + 6 = 0

o Watch Video Solution

12. Find all real numbers satisfying

4:1: . 3(2:I:+2) 4 25 —0

o Watch Video Solution

13.Solve : 6z* — 3523 + 6222 — 352 + 6 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_OeFCXNz61Bj0
https://dl.doubtnut.com/l/_M9pwQU1jnQ7z
https://dl.doubtnut.com/l/_YMoE27INqIkn

1. Discuss the maximum possible number of positive the
negative roots of the polynomial equation

0 — 428 + 42" — 328 + 220 + 2P L T2 L T2+ 2 =0

o Watch Video Solution

2. Discuss the maximum possibel number of positive the
negative zeros of the polynomials z? — 5z + 6 and

z? — 5z + 16. Also draw rough sketch of the graphs.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ovylwtu0LWfE
https://dl.doubtnut.com/l/_Xwux2Q6T3zsl

3. Show that the equation
z? — 52° + 4z* + 222 + 1 = 0 has at least 6 imaginary

solutions.

° Watch Video Solution

4. Determine the number of positive and negative roots

of the equation 2 — 5z® — 142" = 0.

o Watch Video Solution

5. Find the exact number of real zeros and imaginary of

the polynomial z° + 927 + 72° + 523 + 3.

[ ° A _o_L vl e~_ ..o _ ]


https://dl.doubtnut.com/l/_ralKnTjqCFOm
https://dl.doubtnut.com/l/_xzDnBHS4tAZF
https://dl.doubtnut.com/l/_zDne3CZNzYP0

L T vvallll viUco o0IULioll

1. A zero of 22 + 64is

A0
B.4

C. 4z

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_zDne3CZNzYP0
https://dl.doubtnut.com/l/_iqIT8JPbQK47
https://dl.doubtnut.com/l/_AMsQ6W8eB3N0

2. If ind g are polynomials of derrees m and n
respectively, and if h(x) = (f°g)(x), then the degree of h

IS

Answer:

o Watch Video Solution

3. A polynomial equation in x of degree n always has :



https://dl.doubtnut.com/l/_AMsQ6W8eB3N0
https://dl.doubtnut.com/l/_BeRITePVvPRJ

A. n distince roots

B. n imaginary roots

C. at most one root

D. n real roots

Answer:

o Watch Video Solution

4.If a, B and «y are the zeros of z3 + pz® + gz + r,then

1.
Y—is
a
A—2
r
.2



https://dl.doubtnut.com/l/_BeRITePVvPRJ
https://dl.doubtnut.com/l/_pvydnLJYCcd8

Answer:

o Watch Video Solution

5. According to the rational root theorem, which number

is not possible rational zero of 42" + 2z* — 102> — 5 ?

O x| o

D.5


https://dl.doubtnut.com/l/_pvydnLJYCcd8
https://dl.doubtnut.com/l/_s5yiwvOHZKix

Answer:

o Watch Video Solution

6. The polynomial z° — kz? 4 9z has three real zeros if
and only if, k satifies

A |kl <6

B.£k=20

C.|k| > 6

D.k| >6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_s5yiwvOHZKix
https://dl.doubtnut.com/l/_Jivt1QbAFTWD

7. The number of real numbers

sinz — 2sin? =z +1is.....

A.2

B.4

C.1

Answer:

in [0, 27] satisfying

° Watch Video Solution



https://dl.doubtnut.com/l/_Jivt1QbAFTWD
https://dl.doubtnut.com/l/_jdYtCIXqmTcn

8. If 2%+ 122% + 10az + 1999 definitely has positive

zero , if and only if ...

Aa>0
B.a >0

Ca<0

Answer:

o Watch Video Solution

9. The polynomial z° + 2z + 3 has :


https://dl.doubtnut.com/l/_UI5ROAotELGl
https://dl.doubtnut.com/l/_PYbzdw7TiU36

A. one negative and two imaginary zeros

B. one positive the two imaginary zeros

C. three real zeros

D. no zeros

Answer:

o Watch Video Solution

10. The number of positive zeros of the polynomial

n n
Y Co(—1)"2"is
j=0

A0


https://dl.doubtnut.com/l/_PYbzdw7TiU36
https://dl.doubtnut.com/l/_KOm3qAObdGBk

Answer:

o Watch Video Solution

Additional Questions 1 Mark

1.Ifa,b,c € Qandp+ v2q( pP,q € Q)is an irrational

root of az? + bz + ¢ = 0 then the other root is

o View Text Solution



https://dl.doubtnut.com/l/_KOm3qAObdGBk
https://dl.doubtnut.com/l/_x4ZdrC81AyH1

2. The quadratic equation whose roots are a and S is

A(z—a)(z—p8)=0

B.(zx —a)(z+58) =0

b
Ca+p——
a
—C
D.aff = —
a
Answer: A

o Watch Video Solution

3.If f(x) = 0 has n roots, then f'(x) =0 has ........... roots


https://dl.doubtnut.com/l/_KT2eE4bGypA6
https://dl.doubtnut.com/l/_hZy3R0mZPwhM

B.n —1
Cn+1

D.(n —7)

Answer: B

o Watch Video Solution

2
— 1
4. If xisrealand k = < Tt then
2+ x+1
A 1 <k <3
g =k =
B.k>5
Ck<O0


https://dl.doubtnut.com/l/_hZy3R0mZPwhM
https://dl.doubtnut.com/l/_Jiaj0JThFgET

Answer: A

o Watch Video Solution

5. Let a > 0,b > 0,c > 0. Then both the roots of the
equation az® + bz + ¢ = 0 are

A. real and negative

B. real and positive

C. retional numbers

D. none

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Jiaj0JThFgET
https://dl.doubtnut.com/l/_tB8rKvIm0gBB

6. The equation /z + 1 — y/z — 1 = y/4x — 1 has

A. no solution
B. one solution
C. two solution

D. more than one solution

Answer: A

o Watch Video Solution

7. If the roots of the equation z° + bz® +cx —1 =0

form an increasing G.P, then


https://dl.doubtnut.com/l/_tB8rKvIm0gBB
https://dl.doubtnut.com/l/_qd35Gx03XpZh
https://dl.doubtnut.com/l/_RAOHe0SUhwHL

A. one of the roots is 2

B. one of the roots is 1

C.one of the roots is -1

D. one of the roots is -2

Answer: B

o Watch Video Solution

T CE2

tlg| = ———h
—1||‘ 1

8. For real x, the equation

Z

A. one solution

B. two solution

C. at least two solution


https://dl.doubtnut.com/l/_RAOHe0SUhwHL
https://dl.doubtnut.com/l/_DBF5VrAvXhAJ

D. no solution

Answer: C

° Watch Video Solution

9. If the equation az® + bz + ¢ = 0(a > 0) has two
roots a and 8 such that a < -2 and beta > 2, then

Ab? — dac =0

B.b> — dac < 0

C.b%> —dac > 0

D.b% — dac > 0

Answer: C


https://dl.doubtnut.com/l/_DBF5VrAvXhAJ
https://dl.doubtnut.com/l/_iEl4RKORDu12

o Watch Video Solution

10.0F (2+v3)° * 4 (2- V3)

then x =

Answer: A

x2—2x—1

° View Text Solution



https://dl.doubtnut.com/l/_iEl4RKORDu12
https://dl.doubtnut.com/l/_HU4VLNYiHZ0l

Additional Questions Fill In The Blanks

1. f a,B8,7 are the roots of the equation

23 — 3z 4+ 11 = 0,then & + B + Y iS e

A0
B.3

C.—11

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YQC4znUFrWq7

2.1f a, B, ~y are the roots of 9z — Tz + 6 = 0, then aBy

Answer: D

o Watch Video Solution

3.1f 2> — ha — 21 = 0 and z° — 3hz + 35 = O(h > 0)

have a common roots, then h =..............


https://dl.doubtnut.com/l/_OMfhR7Zuj6BM
https://dl.doubtnut.com/l/_pZDcoQUC5Zeh

A.0

B.1

C.4

D.3

Answer: C

° Watch Video Solution

4.1faz’ + bz +c=0,a,b, c € R has no real zeros, and

ifa+b+c+ < 0,then

Ac>0

B.c <0


https://dl.doubtnut.com/l/_pZDcoQUC5Zeh
https://dl.doubtnut.com/l/_7nn9qxty5lwt

Answer: B

o Watch Video Solution

5.1f p(z) = az® + bz + cand Q(z) = — az® +dz + ¢
where ac # 0 then p(x). Q(x) = 0 has at least ... Real
roots

A.no

B.1

C.2


https://dl.doubtnut.com/l/_7nn9qxty5lwt
https://dl.doubtnut.com/l/_uIIr9xCDFB4e

D. infinite

Answer: C

° Watch Video Solution

Additional Questions Choose The Incorrect Statement

1. The equation daz® + 3bx + 2¢ = 0 where a, b, c are

real and a+b+c =0 has

A. two imaginary roots

B. two real roots

C.one + ve & one - ve


https://dl.doubtnut.com/l/_uIIr9xCDFB4e
https://dl.doubtnut.com/l/_MtYs3xAO1ytI

D. 2 -ve roots

Answer: A

° Watch Video Solution

2. One root of the equation

(12 — 1)(6z — 1)(4z — 1)(3z — 1) = 5is

Al
2

B—l
C 12

c L
" 24

5 2
7

Answer: D


https://dl.doubtnut.com/l/_MtYs3xAO1ytI
https://dl.doubtnut.com/l/_kU25PrjMzrBD

° Watch Video Solution

3. The equation z* + 2a2% + 2% 4+ 2az +1 =0 has at

least two distinct negative roots is

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_kU25PrjMzrBD
https://dl.doubtnut.com/l/_TtjWemX9FXul

4. If the equation
(b* +c*)az® — 2(a + b)ex + (¢* +a®) =0 has equal
roots, then

A.a,b,carein G.P.

B.c? = ab

C.a,b,c,arein G.P.

D.c:\/a)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ywNKVkSLVw1e

5. The values of x which satich satisty the equation

‘w2—|—3w'—i—w2—2:Oare ........

Answer: C

o Watch Video Solution

Additional Questions


https://dl.doubtnut.com/l/_mVIVvT2bDBEq

1. CHOOSE THE ADD MAN OUT :

A —|—1—2
T+ 5=

B.ax’ +bx +c=0

Answer: D

o Watch Video Solution

2. CHOOSE THE ADD MAN OUT :

A222 + T2 —20+7=0


https://dl.doubtnut.com/l/_6uosVCxMxUxd
https://dl.doubtnut.com/l/_V9nG8SEYfkLr

B.6x2 — 622 +5 =0

C.—5+6x+5z2—622=0

D.9z* — 523 + 522 —9=0

Answer: B

o Watch Video Solution

Additional Questions Choose The Add Man Out

1. CHOOSE THE ADD MAN OUT :

A3m— 2 _9
5 =X —r —

B.sinx = 4


https://dl.doubtnut.com/l/_V9nG8SEYfkLr
https://dl.doubtnut.com/l/_V8vIH9BrWPPE

C.tanx=1

D.cosz =7

Answer: C

o Watch Video Solution

2. If ¢c# 0 and P__2 4

2 T+ c T —cC

roots, then find p.

Ap=(va-b)
B. (va + )’
C.(va+ o)

D.0

has two equal


https://dl.doubtnut.com/l/_V8vIH9BrWPPE
https://dl.doubtnut.com/l/_eqjJFux0MF7R

Answer: D

o Watch Video Solution

3.fax + by = 1, cz? + dy? = 1 have only one solution,

th a2+b2_1d_a _b
enc i an w—c,y—d
2 b2
A — — =1
c+d
a
B.x = —
C
C
Cxr=—
a
5 _b
.y—d
Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_eqjJFux0MF7R
https://dl.doubtnut.com/l/_bf2xWwTRUPDT

Additional Questions Match The Following

1. For the cubic equation z° + az? + bz + ¢ =0
L

The Correct match is

A.
a b ¢ d
1 11 111 v
B.
b ¢ d a
C.
b ¢ a d
5 1 11 111 v
"cd b a
Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_bf2xWwTRUPDT
https://dl.doubtnut.com/l/_FboJJWecjTLA

2. For the equation 42 + 4pz + p2 = 0
Lo

The Correct match is.

A.
ca b d
B.
c b d a
C.
c a d b
5 1 11 111 v
"d a b ¢
Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_FboJJWecjTLA
https://dl.doubtnut.com/l/_xb3g3osN90sI

3.[s

The Correct match is

b ¢c d a

a b ¢ d
C.
b ¢c a d
D.
c c a d
Answer: A

o View Text Solution

4.

The Correct match is.


https://dl.doubtnut.com/l/_v7KGm3VQaJ3Y
https://dl.doubtnut.com/l/_EfbrejYZendj

d c

Answer: D

d

v

Xy

2V

v

a

° View Text Solution

5. [=

The Correct match is.

A.
b ¢

B.
c b

a

a

Xy
d
X
d



https://dl.doubtnut.com/l/_EfbrejYZendj
https://dl.doubtnut.com/l/_EDkMB0G1nZwF

C.
a b ¢ d
D.
b ¢ d a
Answer: D

o View Text Solution

1. If sina,cosa are the roots of the equation
az® + bz + ¢ = 0(c # 0), then prove that

(a+¢)® =+

o Watch Video Solution



https://dl.doubtnut.com/l/_EDkMB0G1nZwF
https://dl.doubtnut.com/l/_pcAqYJWVAjnR
https://dl.doubtnut.com/l/_b1i8ykxIZ0By

2. Find value of a for which the sum of the squares of the
equation 2z — (@ — 2)z — a — 1 = 0 assumes the least

value.

° Watch Video Solution

3. Find the interval for a for which
3z% + 2(0L2 + 1):1: + (a2 — 3a + 2) possesses roots of

opposite sign.

° Watch Video Solution

4. Findxifz = \/2—|— \/2—l— \/—I— + uptooo

[ o Watch Video Solution


https://dl.doubtnut.com/l/_b1i8ykxIZ0By
https://dl.doubtnut.com/l/_7Uyc7yMXyAL0
https://dl.doubtnut.com/l/_BK8fc3cbAVAl

5.Find the number of positive and negative roots of the

equation x’ — 6x® + 7z’ + 5x? + 2z + 2

o Watch Video Solution

1. Find the number of real solutions of sin

(€") = 5" + 577,

o Watch Video Solution



https://dl.doubtnut.com/l/_BK8fc3cbAVAl
https://dl.doubtnut.com/l/_rxFa1jb0VDDf
https://dl.doubtnut.com/l/_mXQz46CdfS3r

2. Find the number of positive integreal solutions of (

pairs of positive integers satisfying ) > — y* = 353702.

° Watch Video Solution

3.50lve:2° 4 2% 1 4222 == L qrl g qm 2

o Watch Video Solution

4.50lve: (z — 1)* + (z — 5)" = 82

o Watch Video Solution



https://dl.doubtnut.com/l/_gfDF0VSIiFRm
https://dl.doubtnut.com/l/_QWI0JHKTp1ht
https://dl.doubtnut.com/l/_C7glaICYdzcj

5.Solve : (5 + 2\/6)"’”2‘3 + (5 — 2\/6)”’2‘3 =10

o Watch Video Solution

1. If the sum of the roots of the quadratic equation
azx?® + bx + ¢ = 0 (abc = 0) is equal to the sum of the
squares of their reciprocals, the sum of the squares of

: . a c ,
their reciprocals, then —, —, — are in H.P.
c a

° Watch Video Solution



https://dl.doubtnut.com/l/_7pBEjpYtqIMo
https://dl.doubtnut.com/l/_rKnIudjge6nx

2.If a, b, d and p are distinct non - zero real numbers
such that
(a®> + 0 +*)p® —2(ab+be+cd)p+ (B> + & +d*) <0

then n. Prove that a, b, c,d are in G. P and ad =bc

o Watch Video Solution

b
3. If ¢c# 0 and p__° + has two equal
2z x+c x—c

roots, then find p.

° Watch Video Solution

4, If the equation 2?2+bx+ca=0 and

z2 + cx + ab = 0 have a common root and b # ¢, then


https://dl.doubtnut.com/l/_TV1eVFqWepWg
https://dl.doubtnut.com/l/_sgPjf88fACn7
https://dl.doubtnut.com/l/_CgBTb1AbQu8a

prove that their roots will satisfy the equation

22 + ax + be = 0.

° Watch Video Solution

5.Solve : (2:1:2 — 3z + 1) (2x2 + bz + 1) — 922

° Watch Video Solution



https://dl.doubtnut.com/l/_CgBTb1AbQu8a
https://dl.doubtnut.com/l/_CMmeAOYoGwxE

